[image: image1.png]® jx3+,¢2x9+x H :f S

X (X34 2xd1)

- f
X (x91) 2 _Tt;gij;—— - | |
1 Ans: {(“L S B )JX =l __]____"‘/‘n*lﬁxjr/

H
+/n/x!
&) ( X~1 dx N
x3 +x7
A L 2 - A
o (-1 ‘}—~~,2_)0( = | alnixt ~2in Il
Lfi X2 X X T x T

@ J Xl =[xl

Y 34X X ( x2+1)

an Yoin X307 4 o -/»@




[image: image2.png]{ © f Xa P 0%
| (x=1) (xT+x+41)

: | , - ). ) /
KAM /{5? In [x —M(“[’Lé y
| o

A/O)é’ = A°W jf'//4 erd /3{,». Bo//l
d@homma‘br{ LVZQV) /)cVP /)lerm oh%/p \
(x?) >

@) f X} X

—,

Ars = X X432 g )i/ -

Z/A/X\%/D

g

@M X4é/n/x-¢]




[image: image3.png]@ f 5

L U

@) f ( Xj_; )o(xm ”

I

Ans 2 In/x~1 - g /XQAM/

__ﬁ_*—-—v—.\

‘(7




